TEE/BBALLB602/2019/2021 - 22

NW,q
ﬁ"’u %
R

%VERE’{‘
BRAINWARE UNIVERSITY

Term End Examination 2021 - 22
Programme — Bachelor of Business Administration & Bachelor of Law
Course Name — Business Ethics
Course Code - BBALLB602
( Semester VI)

Time allotted : 1 Hrs.15 Min. Full Marks : 60
[The figure in the margin indicates full marks.]

Group-A
(Multiple Choice Type Question) 1 x 60=60
Choose the correct alternative from the following :

(1) The word ‘Ethics’ is derived from Greek word ..........

a) Ethios b) Ethikos
c¢) Ethoes d) None of these
(2) Ethics means ..........
a) Character b) Manner
c¢) Custom d) All of these
(3) Ethicsisa ........
a) Social science b) Science of conduct
¢) Normative Science d) All of these

(4) Human nature is .............

a) Learned b) Programmed

¢) Inherited d) All of these
(5) Culture is .............

a) Learned b) Programmed

c¢) Inherited d) All of these
() I Culture exists in fast paced high risk organizations

a) Fortress b) Club

c) Baseball d) Academy
(7) Which of the wage concept is higher than fair wage?

a) Minimum wage b) Living wage

c¢) Team based pay d) None of these
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(8) What is lateral communication?

a) Communication flows from superiors to b) Communication flows between manager and
subordinates members of other work - groups
¢) Communication flows between peers d) None of these

(9) What is the classical view of management's social responsibility?

a) To create specific environment in work place b) To maximize profits
c¢) To protect and improve society's welfare d) All of these

(10) Which of the following is a disadvantage of social responsibility?

a) Possession of resources b) Ethical obligation
c¢) Public image d) Violation of profit maximization
(11) The term refers to principles, values and beliefs that define right and wrong
behaviour.
a) Customer satisfaction b) Empowerment
¢) Innovation d) Ethics

(12) Which of the following terms refers to the ideals, beliefs, norms, and ethos that arouse an
emotional response for or against them in a given community?

a) Ethical climate b) Organizational ethics

c¢) Personal ethics d) Community values
(13) Which of the following is NOT a type of ethics audit?

a) Compliance audit b) Environmental audit.

¢) Systems audit. d) Cultural audit.

(14) What is whistle blowing?

b) Announcing a high standard of ethical
behaviour to persuade outsiders of the benefits
of dealing with an organization.

2) Spreading malicious rumours about managers
not behaving ethically

¢) Calling for an end to unethical practice in an d) Revealing unethical behaviour to superiors or
organization. outsiders.
(15) According to Kant’s approach to moral philosophy, ethics is based on
a) the consequences of one’s action. b) sympathy.
¢) a social contract. d) practical reason.
(16) Which of the following is an example of a value?
a) Justice b) Happiness
¢) Security d) All of the answers are correct.

(17) Which of the following is the best way to describe how the term ethics is viewed in the
academic world?

a) Ethics is code of conduct for a particular b) Ethics is a branch of philosophy dealing with
profession and not related to personal life. morality.
c) Ethics is a field of study that focuses on faith d) Ethics is what we do when we know others are
and religion. watching.
(18) What is the origin of the word ‘Ethics’?
a) Ethica b) Ethicia
c¢) Dharma d) Niti
(19) When the problem of ozone depletion was first identified?
a) 1970 b) 1971
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¢) 1972 d) 1973

(20) Which of the following is/are the main factor(s) responsible for the rapid rate
deforestation?

a) Rapid growth of population in the developing

: b) Extension of agriculture and grazing lands.
countries.

¢) Rising demand for lumber, timber, paper, fuel-
wood and charcoal, and other forest products.
(21) Which of the following is the best example of Greenhouse effect?

a) Sunlight warms your car. b) Weather change.

d) All of these

c) See breeze d) Cloud bursting
(22) Preamble means
a) The inauguration of a ceremony. b) The head of a body

d) Preface, introduction especially that of an act

c) . .
The top most portion of anything. of Parliament stating its aims & objectives.

(23) The Preamble of the Indian Constitution serves the purpose of?

a) Pointing out what the people expect the b) Indicating that the authority of the
Government of India to accomplish. Government is derived from the people
c) Helping judges to interpret various provisions d) All of these.
of the Constitution properly.
(24) Right to Information is a:
a) Fundamental right b) Legal Right
c¢) Neither fundamental right nor legal right d) Both fundamental right as well as legal right
(25) Right to speedy trial is:
a) Legal right b) Constitutional Right
¢) Fundamental right d) Directive Principles of State.
(26) The term ‘value’ is derived from the French word ...............
a) Valoir b) Valas
c¢) Velois d) None of these

(27) A set of characteristics that sets one group of people apart from another iscalled as

a) Culture b) Values
c) Ethics d) None of these
(28) Indian ethos is the outcome of ........... way of life
a) Budha b) Hindu
¢) Christian d) Muslim
(29) -------- is the process of identifying and grouping of work to be performed
a) Organizing b) Staffing
¢) Division of labour d) Planning

(30) A superior cannot delegate

a) Authority b) Responsibility
¢) Duty d) None of these

(31) ~=====--—-- is the obligation of a subordinate to perform the duty assigned by his superior.
a) Authority b) Responsibility
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¢) Division of labour d) Accountability

(32) e is the activity of influencing people to strive willingly for group of objectives.
a) Motivation b) Leadership
¢) Communication d) None of these

(33) Autocratic style of leadership is also known as .............

a) Authoritarian b) Participative
c) Free rein d) All of these.
(34 ...... seeks to determine norms and values.
a) Culture b) Normative science
c¢) Value d) None of these
(BS) . e Leadership gives complete freedom to subordinates.
a) Authoritarian b) Participative
c¢) Free rein d) None of these
(36) The relationship between the leader and his group is the same as that of father and his
family in ......
a) Autocratic b) Participative
c) Free rein d) Paternalistic

(37) Need Hierarchy theory was developed by ............

a) McGregor b) Abraham Maslow
c¢) Herzberg d) McClelland
(R1:) I needs are need for survival.
a) Safety b) Esteem
¢) Social d) Physiological
(39) The Club of Rome convention was held in the year
a) 1968 b) 1956
c) 1971 d) 1948
(40) The Fundamental Right to Life and Liberty comes under the following Article
a) 19 b) 21
c) 150 d) 356
(41) Sustainable Development means
a) Long term growth b) Short term growth
c¢) Meeting needs of the present d) Meeting needs of the past
(42) The categories of needs as described by Maslow can be grouped as
a) Higher-order needs and Lower-order needs. b) Supreme needs and local needs
¢) Self needs and others needs d) Luxurious needs and comfort needs

(43) Which of the following is a need that motivates human behaviour as per the achievement
motivation theory?

a) Power b) Affiliation
¢) Achievement d) All of these
(44) ------- economy is not planned, controlled or regulated by the Govt.
a) Closed Economy b) Mixed Economy
c) Free market economy d) None of these
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(45) ------ is the apex body of the economic planning in India?

a) Planning Commission b) Parliament
¢) Supreme Court d) None of these
(46) Analysing process of change in the Business environment involves conceptualizing it as
a) Diverse b) Complex
¢) Dynamic d) Static

(47) Which type of organizational structure is characterized by departments dealing with
specialized task

a) Matrix b) Divisional
¢) Hierarchical d) Functional

(48) Which of the following is an example of a Primary form of Business activity?

a) Hair dressing b) Automobile production
¢) Banking d) Forestry

(49) The transfer of asset from public sector to the Private sector is referred to as
a) Privatisation b) De regulation
c¢) Nationalisation d) Individualisation

(50) The main objectives of macroeconomic policy is

a) A high and stable level of employment b) A low and stable rate of inflation

c¢) A stable and satisfactory rate of economy d) All of the above
(51) What does the PPP or P3 initiative refer to?

a) Public policy papers b) Public Private Partnership

¢) Private Procurement Production d) Personal Production Proposal
(52) --------- refers to highly educated and skilled people who migrate from poor developing

countries to wealthy industrial countries
a) Direct investment b) Portfolio Investment
¢) Brain drain d) Transfer Pricing

(53) In this type of economic system, the Govt. intervention is maximum

a) Free enterprise economy b) Socialist economy
¢) Mixed economy d) None of these
(54) India adopts
a) Social b) Capitalist
¢) Mixed d) None of these.
(55) The Sale of Sub - standard and hazardous goods under defined conditions constitute
a) Restrictive Trade Practice b) Unfair Trade Practice
c) MRTP d) None of these

(56) These are forces in the company’s immediate environment that affect the performance of
the Co.

a) Macro environment b) Micro environment
c¢) Technological environment d) Natural environment

(57) In this type of economic system, the Govt. intervention will be absent

a) Free enterprise economy b) Socialist economy
¢) Mixed economy d) None of these
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(58) -------- is an economic system where the means of production are owned and managed by

the State

a) Capitalism b) Socialism

¢) Mixed Economy d) Common economy
(59) India follows -------- economic system

a) Social b) Capitalist

¢) Mixed d) None of these.
(60) In ------ economic system, there exists both private and public sector?

a) Social b) Capitalist

¢) Mixed d) None of these.
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